
Data:

θa0 = 45◦

La = 1

Lb = 2.3

Lc = 1.8

Ld = 2

−0.5 0 0.5 1 1.5 2 2.5 3 3.5
−0.5

0

0.5

1

1.5

2
Mechanism

(xa,ya) →

(xb,yb) →

(xc,yc) →

θ
a

θ
b

θ
c

Generalized coordinates:

q (t) =
[
xa ya thetaa xb yb thetab xc yc thetac xd yd

]T
Constraints:

Φ (q (t) , t) =



xa− L2 cos (θa)

2

ya− L2 sin (θa)

2

xb− xa− L2 cos (θa)

2
− L3 cos (θb)

2

yb− ya− L2 sin (θa)

2
− L3 sin (θb)

2

xc− xb− L3 cos (θb)

2
− L4 cos (θc)

2

yc− yb− L3 sin (θb)

2
− L4 sin (θc)

2

L1− xc− L4 cos (θc)

2

−yc− L4 sin (θc)

2

xd− xa− L5 cos(β + θb)

2
− L2 cos(θa)

2

yd− ya− L5 sin(β + θb)

2
− L2 sin(θa)

2

θa − θa0 − t w





Velocities:

Φq =



1 0
L2 sin(θa)

2
0 0 0 0 0 0 0 0

0 1 −L2 cos(θa)

2
0 0 0 0 0 0 0 0

−1 0
L2 sin(θa)

2
1 0

L3 sin(θb)

2
0 0 0 0 0

0 −1 −L2 cos(θa)

2
0 1 −L3 cos(θb)

2
0 0 0 0 0

0 0 0 −1 0
L3 sin(θb)

2
1 0

L4 sin(θc)

2
0 0

0 0 0 0 −1 −L3 cos(θb)

2
0 1 −L4 cos(θc)

2
0 0

0 0 0 0 0 0 −1 0
L4 sin(θc)

2
0 0

0 0 0 0 0 0 0 −1 −L4 cos(θc)

2
0 0

−1 0
L2 sin(θa)

2
0 0

L5 sin(β + θb)

2
0 0 0 1 0

0 −1 −L2 cos(θa)

2
0 0 −L5 cos(β + θb)

2
0 0 0 0 1

0 0 1 0 0 0 0 0 0 0 0



Φt =


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−w





Accelerations:

γ =



−L2 θ̇2a cos(θa)

2

−L2 θ̇2a sin(θa)

2

−L2 cos(θa) θ̇
2
a

2
−

L3 cos(θb) θ̇
2
b

2

−L2 sin(θa) θ̇
2
a

2
−

L3 sin(θb) θ̇
2
b

2

−
L3 cos(θb) θ̇

2
b

2
− L4 cos(θc) θ̇

2
c

2

−
L3 sin(θb) θ̇

2
b

2
− L4 sin(θc) θ̇

2
c

2

−L4 θ̇2c cos(θc)

2

−L4 θ̇2c sin(θc)

2

−L2 cos(θa) θ̇
2
a

2
−

L5 cos(β + θb) θ̇
2
b

2

−L2 sin(θa) θ̇
2
a

2
−

L5 sin(β + θb) θ̇
2
b

2
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